Reading
Monday
1. The small pool as described as a “still muddy pool, stony and weedy, and surrounded by scraggy trees and bushes” (1 mark)
2. The little big fish “kept himself to himself. He was aloof and haughty whenever the others came near him“ (1 mark)
3. The older fish “was becoming irritated by the big fish’s constant gripes” (1 mark)
4. The little big fish decided he would allow himself “to be swept down into the big river and out of this little pool” (1 mark)
Tuesday
1. The little big fish needed rain and floods for his plan work (1 mark)
2. When he reached this river, the little big fish sighed “with anticipation of the good life that lay ahead” (1 mark)
3. The little big fish got away from the black and white fish by wedging himself “into a crevice in the bank, just out of their reach” (1 mark)
4. The little big fish got back to the small pond “with a leap…. into the expanse of flood-water that was surging past him” and then by swimming “against the swirling torrent” (1 mark)
Wednesday (possible answers could include)
1. The little big fish liked to be by himself. He prefers his own company.
“He kept himself to himself”
“He was aloof and haughty” (2 marks)
2. The little big fish wants to leave the pond because he thinks he is bigger and better than the rest of the fish there.
“this prompted the big fish to think further on how much too big and important he was to be living in such a small pool” (2 marks)
3. The little big fish thought the older fish was his friend.
“My friend is quite right, he thought” (2 marks)
4. No the little big fish doesn’t know that the older fish is annoyed by his constant moaning and that he uses sarcasm when he tells him to go and find a better place to live.
“who was becoming irritated by the big fish’s constant gripes”
“I wonder why a beautiful creature like you doesn’t go off to the big river and mix with other big and important fish, he added sarcastically” (2 marks)
Thursday (possible answers could include)
1. I think he thought it would be a good, happy life with fish like himself.
“I should be far happier if I lived among fish of my own size, beauty and intelligence”
(2 marks)
2. The little big fish annoyed the fish in the river because he was in their way.
“Out of the way, little fellow! Don’t you know this is our hunting ground?’ they exclaimed harshly” (2 marks)
3. He thought the river was a terrible place because no one was friendly, in fact they tried to eat him.
“Presently two large black and white fish came rushing straight for him with their fearful jaws open wide” (2 marks)
4. He learned that it is better to be a little big fish in a small pond than be a little big fish in a strange river full of even bigger fish! He realised that being safe is an important part of where and with whom you are living.
“If only I could get back to my little pool I would never grumble again”
Friday (possible answers could include)
1. At first the big little fish was quite rude about the other fish. He thought he was better than them. He had bigger ambitions and wanted to leave the others behind. When he arrived at the river, he was happy but then the reality of being there set in. He was actually confused about what to do and where to go, and he felt nervous in front of the other fish. He was then frightened about his decision to return to the small pond but he was determined and didn’t give up, even when it became a struggle. At the end when he was back where he had started, he felt relieved.
2. The older fish were irritated by the big little fish’s attitude to where they lived and they used sarcasm to show this when talking to him. The older fish manipulated the big little fish into thinking his idea of leaving was a good one. They perhaps thought he needed to be taught a lesson and they didn’t warn him about the dangers of leaving the safety of the small pond.
3. This is the moment when the big little fish realises his mistake and begins to doubt the decision he made.
4. The author shows how hard the big little fish’s return journey is. He uses phrases like “struggled”, “force” and “swirling torrent” to show that the journey was very difficult and that it would have been easy for the big little fish to give up, but he didn’t. It shows how desperate yet determined the little big fish is to get home.
5. This is an open ended question
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Monday (other answers are possible)
1. The king had returned from a long journey and consumed his welcome-home feast quickly.
2. The beautiful, wild hawk balanced high in the branches of an old, oak tree.
3. The graceful ballerina danced beautifully across the stage in her bright pink costume.
Tuesday (other answers are possible)
1. It was only by the smallest chance that the charmed rabbit got away from the fox.
2. I wanted some of the mushroom pizza, but there was only a meagre bit left!
3. Three, large gentle cows with black spots stood devouring grass in the field.
4. Caroline held onto her puppy’s lead firmly, so he couldn’t run off.
Wednesday (other answers are possible)
1. Dan was active in his hunt for the missing money.
2. Dan wavered in his attitude towards his daily fitness programme.
3. Dan was unworried about his written answers for his spelling test.
4. Dan was dissatisfied with the bed he had to stay in at his friend’s house.
5. Dan was content with the breakfast he had when staying at his friend’s house.
6. Dan thought the new boy was a little surly when he first met him.
7. Dan thought the new boy was short for his age.
8. Dan found the hidden treasure in a clear corner of the attic.
Thursday and Friday (other answers are possible)
1. upbeat/ optimistic
cheerless/uncertain
Although the film was upbeat, the viewers felt the ending was a little uncertain.
2. outdated/obsolete
modern/fresh
Despite the house having some modern features, most of it was rather outdated in its style.
3. fiery/scorching
nippy/sub-zero
In the morning the classroom was scorching but by the afternoon the temperature had dropped to sub-zero.
4. cull/reject
employ/keep
Whilst most of the applicants were rejected for the job, two were successfully employed.
5. appalling/loathsome
pleasing/agreeable
It was pleasing to sit in the sunshine however the chilly wind soon made it a loathsome pastime.
6. clamorous/ noisy
calm/tranquil
At night the city was tranquil but as the sun rose the clamorous noise of the traffic began again.
Maths – Mr Needham and Miss Dean
	LO: To multiply decimals by integers 

	TUESDAY

	Star words:  Ones                  tenths                hundredths                   decimals              integers                                        Place value                            digits 



	Fluency
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	Reasoning 

	Mr Needham says 2 x £2.60 = £5.20
Explain how he could use this to solve 4 x £2.60. 
If you double 2 you get 4.
We could double (x2) £5,20
2x £5,20 = £10.40
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	Problem Solving
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Tip:
25 x 1 = 25
3 x 8 = 24 (+ how many more eggs to make 25?)
4 x 6 = 24 (+ how many more eggs to make 25?)





	LO: To round to the nearest 10 

	WEDNESDAY

	Star words:  Rounding                  place value               digits                tens   



	Fluency
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	10

	1) 3280
2) 4850
	3) 53430
4) 98360
	5) 735500
6) 735400









	Reasoning 
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	Mr Needham thinks of a whole number.
He rounds his answer to the nearest 10
The result is 3450
3445, 3446, 3447, 3448, 3449



	Problem Solving

	Amy chooses two of these cards.
 
[image: https://app.doublestruck.eu/content/K2_REAS/HTML/Q/Q10A02_files/image001.jpg] 
She adds the numbers on her two cards together.
She rounds the result to the nearest 10
Her answer is 60
Which two cards did Amy choose?
[image: https://app.doublestruck.eu/content/K2_REAS/HTML/Q/Q10A02_files/image002.jpg]
The cards would need to total 55, 56, 57, 58, 59
Or
61, 62, 63, 64

33 + 23 = 56 (56 can rounded up to 60)

2.
[image: ]

These are the numbers that round to 40 (nearest 10): 
35, 36, 37, 38, 39, 41, 42, 43, 44

41 + 38 = 39
42 + 37 = 39
43 + 36 = 39
44 + 35 = 39



	Using the number cards 0-9, can you make numbers that fit the following rules? Challenge: Use each digit only once. (PS)
0   1    2    3    4    5     6    7     8    9

1. When rounded to the nearest 10, I round to 20.  15, 16, 17, 18, 19

2. When rounded to the nearest 10, I round to 10. 5, 6,7, 8, 9
                




	LO: To round to the nearest 100

	THURSDAY

	Star words:  Rounding                  place value               digits                tens 
hundred 



	Fluency
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[image: ]
[image: ]

	100

	1) 8800
2) 8300
	3) 8800
4) 8300
	5) 8800
6) 8300









	Reasoning 
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	Any numbers between 47450 to 47549



	Problem Solving
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	Using the number cards 0-9, can you make numbers that fit the following rules? Challenge: Use each digit only once. (PS)
0   1    2    3    4    5     6    7     8    9

1. When rounded to the nearest 100, I round to 1000. 
950, 951, 952, 953, 954, 956, 957, 958, 960, 961, 962, 963, 964, 965, 967, 968, 970, 971, 972, 973, 974, 975, 976, 978, 980, 981, 982, 983, 984, 985, 986, 987, 

2. When rounded to the nearest 100, I round to 7200. 
7150, 7152, 7153, 7154, 7156, 7158, 7159, 7160, 7162, 7163, 7164, 7165, 7168, 7169, 7180, 7182, 7183, 7184, 7185, 7186, 7189, 7190, 7192, 7193, 7194, 7195, 7196, 7198                  





Friday – Arithmetic
	1) 712

	2) 5/11

	3) 90

	4) 838

	5) 9

	6) 200

	7) 6562

	8) 46

	9) 81.08

	10) 308

	11) 90

	12) 600

	13) 4

	14) 4,921

	15) 50,000

	16) 4.6

	17) 6/7

	18) 0.001



Maths – Miss Stonehouse and Mr Orr
	LO: To covert decimals to fractions 

	TUESDAY

	Star words:  tenths                hundredths                   decimals               fractions                                     equivalent            numerator                   denominator                     vinculum 



	Fluency
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	3) 0.6 = 60/100 or 6/10                                              6) 0.07 = 7/100
4) 0.9 = 90/100 or 9/10                                              7) 0.01 = 1/100
5) 0.31 = 31/100                                                          8) 0.19 = 19/100
















	Reasoning 
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	Problem Solving

	1) Katie has £10 and orders a pizza. The pizza costs her £3. Write as a fraction and decimal how much she has left. 3/10 or 0.3

2) Julia is baking a cake. A bag of flour has 100g in it. She needs 40g. 
How much does she need? Write this as a fraction and decimal. 4/10 or 0.4

3) James has £10 and orders a pizza. The pizza costs her £2.50. Write as a fraction and decimal how much she has left. 25/100 or 0.25

4) Jackie is baking a cake. A bag of flour has 200g in it. She needs 60g. 
How much does she need? Write this as a fraction and decimal. 60/200 = 30/100 = 3/10 or 0.3













	Challenge
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	LO: To covert fractions to decimals.

	WEDNESDAY

	Star words:  tenths                hundredths                   decimals              fractions                                     equivalent            numerator                   denominator                      vinculum 



	Fluency

	[image: ]
1) 5/8 = 0.625
2) 4/5 = 0.8
3) 8/5 = 1.6
4) 7/8 or 0.875
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	Reasoning 
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	Problem Solving

	[image: ]





	Challenge
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	LO: To convert fractions to percentages and compare amounts.

	THURSDAY

	Star words:  tenths                hundredths                   decimals             fractions                                     equivalent            numerator                   denominator                 vinculum 



	Fluency

	[image: ]



	Reasoning 
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	Problem Solving
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	Challenge
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Friday – Arithmetic
	1) 712
	19) 750

	2) 5/11
	20) 18,055

	3) 90
	21) 240

	4) 838
	22) 15

	5) 9
	23) 14

	6) 200
	24) 7/10

	7) 6562
	25) 2 1/2

	8) 46
	26) 0.262

	9) 81.08
	27) 117

	10) 308
	28) 2/3

	11) 90
	29) 465,518

	12) 600
	30) 198

	13) 4
	31) 1/8

	14) 4,921
	32) 77

	15) 50,000
	33) 60

	16) 4.6
	34) 182

	17) 6/7
	35) 2 17/21 or 59/21

	18) 0.001
	36) 91
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. Use the place value counters to multiply 1.212 by 3
Complete the calculation alongside the concrete representation.

Tens Ones Tenths Hundredths 'housandths
O [O0] © [60]
O OO0 © (60
O [O0] © [ee
W Ajor of sweets weighs 1213 kg. 1.213

How much would 4 jars weigh? 1.213

1.213

1

3.636

. Rosie is saving her pocket money. Her mum says,

“Whatever you save, | will give you five times the amount.”

If Rosie saves £2.23, how much will her mum give her? 11.15
If Rosie saves £7.76, how much will her mum give her? How much
will she have altogether? 38.8
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Chocolate eggs can be bought in packs of = £11.92
160r8

What is the cheapest way for Dexterto |~ He should buy
buy 25 chocolate eggs? four packs of 6

plus an individual
)

1 chocolate egg

52p

6 chocolate eggs
£2.85

8 chocolate eggs
£4
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Varied Fluency

o Which multiples of 10 do the numbers sit between?

T T T T T T T T T

30 31 32 33 34 35 36 37 38 39 40
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Say whether each number on the number line is closer to 160 or

70 160 170 170
T 71 T T 71

160 163 166 167 170

Round 163, 166 and 167 to the nearest 10
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Complete the table.

Start number Rounded to the nearest 10
2259388| 635 =sa
851 850
XCVIII 98 = 100
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365
366
367
368
369
370
3N

372
373
374




image8.png
| don'tagree with
Jasmine because 847
rounded to the nearest
10is 850. | know this
because ones endingin
5,6,7,8 and 9 round
up.
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Two different two-digit numbers both
round to 40 when rounded to the nearest

10
The sum of the 2 numbers is 79

What could the two numbers be?

Is there more than one possibility?
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Varied Fluency

a Which multiples of 100 do the numbers sit between?

(_T—\——>

800| 810 820 830 840 850 860 870 880 890 900
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Say whether each number on the number line is closer to 500 or

600
500 600 600 5
500 537 555 568 600

Round 537, 555 and 568 to the nearest 100
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Complete the table.

Start number Rounded to the nearest 10
Eooh. so B 460
994 1000
XLV 45 =50
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Always- a number with
afivein the tens
column will be 50 or
above so will always
round up.

Sometimes-a number
with afive in the ones
column might have O-
4 inthe tens column
and round down or
might have 5-9in the
tens column and
round up.

Sometimes-a number
with a five in the
hundreds column
might have 0-4 in the
tens column and
round down or might
have5-9in the tens
column and round up.
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249 because when
rounded to the nearest
10it round to 250 and
when rounded to the
nearest 100 it rounds to
200

Other numbersinclude:
248, 247,246, 245
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To 20t could be:15-24
To10it could be: 5-14

To 500it could be 650-
749

Onlyeach digitonce: 5,
24,679 or 9, 17,653
etc.
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& What decimal is shaded?
Can you write this as a fraction?

4/10

010101 o1 | 01 | 01 | 01 | 01 | 01 | 01

. Complete the table.

06

6

10

3
5

1/4

30/100 or 3/10 3/10
0.25 25/100 =
| I S IN 50/100 1/2
ose 95/100 19/20
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Odd one out.

000 ,
000 |

Which is the odd one out and why?
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Possible response:

Diis the odd one
out because it
shows 0.3

Explore how the
rest represent 0.6
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Alex says,

0.84 is equivalent to %

Do you agree?
Explain why.

Possible response:

Alex is wrong
because 0.84is 8
tenths and 4
hundredths and 3=
is 84 tenths.
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Complete the pattern

1 2 3 a

8 8 8 8
0125 [025 |0375 | 05
0375 | 2722 ?2?2? | 2?7

Complete the table.





image23.png
Another and another 0.5=5/M10o0r1/2
Write a unit fraction
which has a value of less 25/100 =1/4

than 0.5? 410
... and another, ... and 310

2/10
another, ...

110
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. Deena has used place value counters to write %as adecimal. She
has divided the numerator by the denominator.

Use this method to convert

Ones * Tenthe the fractions to decimals.

Give your answers to 2

decimal places.

5 (3

b 1 T

3 ones = 30 tenths 2 tenths = 20 hundreths

7lotsof4 5lotsof4
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Convert the following fractions into their deds\glfquivalents:

0.1 02 0.75 0.05 . 0.8
LY 25T 3.%s 4t/ 5.0 6.7
Explain the method that you used and the relationship between
fractions and division.

Complete the table:
g /g 38 | 4/8 5/8 6/8

0.125 | 0.25 | 0375 ‘ 0.5 0.625 | 0.75

Charlie divided 1
pizza into 5 pieces.

If he ate 2 pieces,
what decimal
fraction of the pizza
did he eat?

2/5=04
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Harry says:

1/ 2 Is equivalent to
1.2

Is he correct?  No

Explain your answer in
detail, not just by stating
what Yz is equivalent to.

Hannah says:

"If I divide 2 by 8, T
get the same answer
as if I divide 1 by 4”

Do you agree?  yeg

Explain your answer using
diagrams or counters.

True or Falsé!
True

0.3 is bigger
than /4.

Explain your reasoning.

12=0.5

2/8 can be simplified as 1/4

==

1/4=0.25
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Write a unit
fraction that has

a value of less
than 0.5.

Can you find 20
different unit

fractiod'l%?= 2

Curtis used /3 of a can of paint

to cover 3°5 square metres of
wall.

How much wall will one whole
can of paint cover?

Pete shares 6 bananas between
some friends.

Each friend gets
0°75 of a banana.

8 friends
How many friends does he share
the bananas with?

110=0.1
2/10=10.2
3M10=0.3
4/10=0.4
1/4=0.25
1/5=0.2
1/100 = 0.01
2/8=0.25
10/100 = 0.1
1/8=0.125
4/16=0.25

1/3 covers 3.5 m?
3/3 is the whole can

3x3.5=10.5m?

6+ =0.75

3/4=0.75

3 x2
4 x2
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30

Dora and Whitney are converting o

into a decimal.

- Dora doubles the numerator and
denominator, then divides by 10

- Whitney divides both the numerator
and the denominator by 5

= 0.06

- Both get the answer
100

Which method would you use to work out
each of the following?

(=) (=) (=) (=3

Explain why you have used a certain
method.

25/100 (double, then divide by 10) = 5/100 = 0.05

125/500 (double, then divide by 10) = 25/100 = 0.25
40/500 (double, then divide by 10) = 8/100 = 0.08

350/500 (double, then divide by 10) = 70/100 = 0.7
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20/100 = 20% 74/100 = 749

& What fraction of each
hundred square is shaded?
Write the fractions as

percentages.

. Complete the table.

[ Fracton | pecemage |
B 50%
H 25%
1
o 10%
H 20%

. Fill in the missing numbers.

12 (39)
W'@% S5 =35%
12_@_@% 42
50 32100 2og 100




image30.png
In a Maths test, Tommy answered 62% 62/100
of the questions correctly.

. 3 )
Rosie answered ;of the questions 20x3=60
correctly. 20 x 5=100

Who answered more questions correctly?
Tommy

Explain your answer.
3/5 is = 60/100 = 60%

62% = 62/100

60%
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50 squares

Amir thinks that 18% of the grid has been
shaded. 18/50

Dora thinks that 36% of the grid has been
shaded.

Who do you agree with? Dora

Explain your reasoning.18/50 = 36/100
36%
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7/8
Three friends were competing in a race.

o Billy completed half of the race. 50%1/2

 Harrison completed 50% of what Billy completed
o Charlotte completed 0.25 of what Billy completed.

What fraction of the race did they each complete?

Harrison = 25% = 1/4
Charlotte = 1/8

Write decimals and percentages cn
flash cards and have them face
down.

In pairs, turn one over at a time.
The first person to write down 5

equivalent fractions to the
decimal/percentage wins a point.

Charlote (0.25 = 1/4) 1/4 of 50 = 12.5% = 1/8

12+14+1/8 =
4/8 +2/8+1/8=17I8
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‘Which month did Eva save the most
money?

Estimate your answer using your
knowledge of fractions, decimals and
percentages.

Explain why you have chosen that month.

g
In January, Eva savesiof . (ﬁ 20:+5=4
o

her £20 pocket money. £12 3x4=12
. EY F¥ In February, she saves 0.4 0.4=4/10
£4 of her £10 pocket money. 10:10=1
S 4x1=4
In March, she saves 45% of . ®
her £40 pocket money. [ 2 {’\a\
45% =9/20 e

40 +20=2
9x2=18




